FIFRRA OB RSSO St (FERETH)

b, K 7 H i | S
1 fEREHT 4355 -1 K 1,809 10 10
2 fEREHT 4355 -5 vl 350 10 10
3 fEREHT 4357 -1 K 392 10 10
4 fLREHT 4357 -2 vl 404 6 6
5 A=t 4358 vl 750 10 10
6 fLREHT 4359 -1 K 1,118 10 10
7 A=t 4361 - 1 il 730 10 10
8 A=t 4361 - 3 vl 795 10 10
9 A=t 4369 K 450 10 10
10 fEREHT 4370 K 426 10 10
11 fEREHT 4371 vl 364 10 10
12 fEREHT 4371 - 1 H 634 10 10
13 fEREHT 4372 -1 H 757 10 10
14 EREHT 4372 - 2 H 579 10 10
15 fEREHT 4376 H 1,549 10 10
16 1B REHT 4386 H 1,494 10 10
17 1B REHT 4391 K 1,155 10 10
18 iA=L 4401 - 2 S 360 10 10
19 Pz} 4402 K 1,894 10 10
20 iA=L 4408 K 975 10 10
21 iA=L 4647 - 2 vl 1,258 10 10
22 fEREHT 4648 S 1,291 6 6
23 fEREHT 4678 - 1 v 1,299 6 6
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